
Logistic Regression

Lecture 22







% Decision boundary based on coefficients in B
% B(2)*x1 + B(3)*x2 + B(1) = 0, where B(1) is the intercept
% log(P(C1|X)/P(C2|X)) >= 0, if P(C1|X)>=P(C2|X)
x1 = min(data(:,1)): 0.01: max(data(:,1));
x2 =  -(B(2)*x1 + B(1))/B(3);
hold on;
plot(x1,x2)

>> % Slopes and intercepts based on theoretical results
inv(Sigma)*(mu1-mu2)'
-0.5*mu1*inv(Sigma)*mu1'+0.5*mu2*inv(Sigma)*mu2'

ans =
-1.2374
-1.7664

ans =

18.2342

>> B

B =

19.0582
-1.2745
-1.7747

‘
logistic_regression_demo.m

>> % Determine the class probability
x = mean(data)
prob = mnrval(B, x)
log(prob(1)/prob(2))
B(2)*x(1)+B(3)*x(2)+B(1)

x =

6.1741    5.9980

prob =

0.6329    0.3671

ans =

0.5447


